النثر الإنجليزي
المحاضرة العاشرة
Today we're not studying any chapter we're going to do some exercises.
For the final exam, the exam will be similar to the multiple choice exercise.
Today we'll do some exercises from the book we have 4 exercises in page 52, 73 , 88, 115 .
In the exam we're going to have questions & passages from the chapter we studied , but there will be one un seen passage because I want to check your comprehension , because the goal of the course is to check if u developed your skills . don't worry it will be too short with 2 paragraphs and it's going to be very very easy.
الاختبار ستأتي فيه قطعه خارجيه ولكنها ستكون سهله
صــ 53 حل التمرين 
1- B – approach the problem of inheritance scientifically.
2- D – at the beginning of last century.
3- B- he enjoyed it.
4- D – all of the above.
5- 1650
6- B- it carried many soldiers and cannons.
7- A – Swedish.

صــ73 حل التمرين
1- A- officially recorded
2- D – survey
3- B- light flow
4- C- heavy flow
5- A – strict
6- D – charged money a a penalty.
7- B- obstacles




صــ88 حل التمرين
1- B- investigators who travel around the world.
2- D – absence of something needed.
3- C- entering in to the body
4- D – average salary.
5- C – plants in the ocean.
6- C- present in many locations.

صــ115 حل التمرين
1- A – a monument, building, or other object that serves as a typical marker on the land.
2- C- made by hand , not by a machine .
3- B- to move information up and to move it back down.
4- B- people who make crafts with their hands.
5- A- extending all over the globe.
6- C- place where ideas , as well as goods are bought and sold.
7- A- based on the needs of ordinary people.
8- C- locations for long-distance communication by computer, telephone, telegraph, television, etc …
نهاية المحاضرة العاشرة
